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220,000 128 2,640
J| 1,320
< 1,320
Itz L2l (EX) 49,394 40,271 9,123
J| 24,697
< 2,305
Al 22,392
101 @124 dl 29,986 31,194 A1,208
J| 14,993
Al 14,993
04 JIZHHZ2XEES 29,986 31,194 A 1,208
Oz oY 29,986
J| 14,993
Al 14,993
201 Let2d] 2,600 2,400 200
J| 1,300
Al 1,300
01 At 2teltl 2,600 2,400 200
OZzsiae 22835 ¢ 5,200& 500 2,600
J| 1,300
Al 1,300
202 O4dl 1,440 960 480
J| 720
Al 720
01 = LH 4 4l 1,440 960 480
OXZEHY EETXZA 64Hl 20,000 «62 128 1,440
J| 720
Al 720
307 21201 A 15,368 5,717 9,651
J| 7,684
< 2,305
Al 5,379
01 92724l 15,368 5,717 9,651
OZ&e i A Y &y 19,240& »400H 7,696
J| 3,848
< 1,154
Al 2,694
OZ#EX = LAY 94,8802 %502 4,744
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A EAA
M Aot s=EEgdsS f8 g 2elAY
Sl WRAHY alAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 200
01 SLHOYI 500 1,500 A 1,000
OXGASl HZEZALALS =& HI 500
Jl 250
< 50
Al 200
307 gl2tol & 46,144 46,114 30
J| 23,072
< 4,614
Al 18,458
05 BIZHRI & 3 46,144 46,114 30
OXSAAE AT XA 46,144
J| 23,072
< 4,614
Al 18,458
ColAA 2 ALY (XIOH) 12,600 12,000 600
307 glz2tol & 12,600 12,000 600
01 922724l 12,600 12,000 600
OXlofcol H2ze] NI (YL L UASES
-¢) 15,000& 420K x23| 12,600
Lol AN (XIO) (BX) 20,450 14,080 6,370
= 5,112
Al 15,338
201 24l 14,350 10,680 3,670
< 3,587
Al 10,763
01 At 2t 2l 14,350 10,680 3,670
OXfagHE 22 (EEE) S
1,150,000& »7 4 8,050
< 2,012
Al 6,038
OXHHEEwa T2 29 S
7,000& *30H 302 6,300
< 1,575
Al 4,725
202 o4dl 2,400 2,400 0
< 600
Al 1,800
01 = LH o4 1l 2,400 2,400 0
OXIOHOI & 2tel At =& O 8l
20,0003 x10 123 2,400
< 600
Al 1,800
301 LEtE A= 3,700 1,000 2,700
= 925
Al 2,775




A EAA
HE: [otRe SABAS IS YRAYBE ALY
Ee: 2222 22 A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHIBEAZ 2,100 1,000 1,100
OXoer2e(E20d) 29 242
7,000& *30H 103! 2,100
& 525
Al 1,575
11 JIEtE A2 1,600 0 1,600
OXICHOI 22 AIY 29 2AIEE
80,000& x203] 1,600
& 400
Al 1,200
MOt & X 22l Al 25,194 21,348 3,846
206 M = dl 3,000 3,000 0
01 X2 Hl 3,000 3,000 0
OMIILEX T2 329 g 1Y
250,000 x123] 3,000
307 2iz2to| A 22,194 18,348 3,846
01 s R=dl 22,194 18,348 3,846
ORIt E I FH 2 27,000 *822H 22,194
MOt X 22l Al (EX) 17,366 17,366 0
J| 8,683
= 1,736
Al 6,947
201 et 2,024 2,716 A 692
J| 1,012
& 202
Al 810
01 AR 22l ] 2,024 2,716 AN 692
OMItE LAY EE2=2 2¢ 253,000 83| 2,024
J| 1,012
& 202
Al 810
202 o4 H| 1,000 1,000 0
J| 500
& 100
Al 400
01 2Ll 1,000 1,000 0
OMItL2Zte| AFY =& 0l 20,000 »224 25 1,000
J| 500
=} 100
Al 400
206 M = dl 8,750 11,130 A2,380
J| 4,375
& 875
Al 3,500
01 X2 8| 8,750 11,130 A2,380




A EAA
I Xot2e sHEMS /s gEHd 22 AY
Ee: 2222 22 A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMItS A FAA0 P2 35,000& *250H 8,750
Jl 4,375
= 875
Al 3,500
301 et A= 1,920 2,520 A 600
J| 960
= 192
Al 768
09 HAIAHI EAZ 1,920 2,520 A 600
OMItSEA 22 AMYE=E B3 1,920
J| 960
& 192
Al 768
307 2iz2to| & 3,672 0 3,672
J| 1,836
& 367
Al 1,469
o1 s R=dl 3,672 0 3,672
OMIIEX IR 2 15,300 *3= *80H 3,672
J| 1,836
= 367
Al 1,469
RUABHASAAIY 9,500 10,000 A 500
201 et d| 2,500 2,500 0
02 2224 4| 2,500 2,500 0
ORUBAHAIY Y| 2,500
307 2Iz2t0| A 7,000 7,500 A 500
01 dsed =l 7,000 7,500 A500
OFRLEBEHAIEZE 2E RY(0AZT & 11E) 7,000
BEEHAIY 29 (BX) 14,800 14,800 0]
= 2,960
Al 11,840
201 gEt24Ay| 7,800 800 7,000
& 1,560
Al 6,240
01 AP 22| d| 7,800 800 7,000
OYHL2AZAIY EF 7¢ 7,800
= 1,560
Al 6,240
202 044l 5,000 4,000 1,000
o= 1,000
Al 4,000
01 2L I 5,000 4,000 1,000
OgsHd2eAIY =&Y 5,000
& 1,000




2N
X ZH -
L= B

el

224
XLl SSASBAS 98 H2AL ALY
Y2AY B AY

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 4,000
301 L2 LS 2,000 0 2,000
< 400
Al 1,600
09 HALAHIE& S 2,000 0 2,000
Og2Ad 2l FH B4z 2,000
= 400
Al 1,600
LQ REOZBE LaH NH(2X) 6,510 6,510 0
= 1,953
Al 4,557
307 21201 A 6,510 6,510 0
< 1,953
Al 4,557
01 92724l 6,510 6,510 0
OLol RSUTAE 224 N
930,000 »7H 6,510
< 1,953
Al 4,557
XNOHXE 2elBXJ(EX) 113,400 148,522 A 35,122
| 56,700
< 17,010
Al 39,690
307 21201 A 113,400 148,522 A 35,122
| 56,700
< 17,010
Al 39,690
05 RIZHRI & 3 113,400 148,522 A 35,122
OXixE el X (FYUALEE S GlE) 113,400
| 56,700
< 17,010
Al 39,690
d2g LoAadag NBAMG(EX) 170,000 0 170,000
< 51,000
Al 119,000
301 LEtE L= 130,000 0 130,000
< 39,000
Al 91,000
1M1IIEBESS 130,000 0 130,000
OZ2EZ20Y 29 A=+
0,000& +3,2503! 130,000
< 39,000
Al 91,000
307 glz2tol & 40,000 0 40,000
< 12,000
Al 28,000




A EAA
M TpotZtel sESNE e A2 2 ALY
el BRAY 2alAY (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 22724l 40,000 0 40,000
OZzIly 29 JIXNM 7
50,000 x5 * 1600 2 40,000
< 12,000
Al 28,000
NAAE BAUEAAY 982,916 697,544 285,372
= 104,813
J| 120,000
< 191,430
Al 566,673
KNAAE HABAHE 2H(BEX) 160,000 160,000 0
J| 80,000
Al 80,000
101 1244 Hl 115,800 108, 368 7,432
J| 57,900
Al 57,900
04 JIZHHZ22XREES 115,800 108, 368 7,432
OFAMAZETHEH 212 115,800
J| 57,900
Al 57,900
201 Let24d] 21,652 31,044 A9,392
J| 10,826
Al 10,826
01 At 22l 14,652 28,044 A 13,392
OFUEAAY & (B)A™S Hasg
70,0003 «4H » 12 3,360
J| 1,680
Al 1,680
OFBNBAANG(FAMEEZIZNH2Y 5)
1,073,000& x4 4,292
J| 2,146
Al 2,146
OFUNUEAANY EE2E 4AHML 2 2EH 7Y
1,000& #23/+3,000% 6,000
J| 3,000
Al 3,000
OFAMALSAEEH 2235 72 2 =4 1,000
J| 500
Al 500
02 =224l 3,000 3,000 0
OFUNAZSAEH 29 250,000& 128 3,000
J| 1,500
Al 1,500
03 A2 S HI 4,000 0 4,000
OZdAZAY S M 29 4,000
J| 2,000
Al 2,000
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M Aot s=EEgdsS f8 g 2elAY
Sl XIAE HAE ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 2,000 2,000 0
J| 1,000
Al 1,000
01 = LH o4 1l 2,000 2,000 0
OFANUBAAY =AW 20,000 *2H 502 2,000
J| 1,000
Al 1,000
301 LAz 10,500 11,040 A 540
J| 5,250
Al 5,250
09 EALEHIE &S 10,500 11,040 A 540
OFUEAANGZ=A Ba=z 10,500
J| 5,250
Al 5,250
307 glz2tol & 8,048 6,048 2,000
J| 4,024
Al 4,024
01 222724l 6,048 6,048 0
OFAAER XIZHXA 12,600 x40 «12& 6,048
J| 3,024
Al 3,024
05 BIZERIE 3 2,000 0 2,000
OFANEAEZ 8 WS 2,000,000& x1 2,000
J| 1,000
Al 1,000
405 XHoHF S HI 2,000 1,500 500
Jl| 1,000
Al 1,000
01 AL EZFH S 2,000 1,500 500
OFABAHHH HLtI| 2 2,000
J| 1,000
Al 1,000
M =EHAE(BEX) 488,620 462,874 25,746
< 146,586
Al 342,034
307 21201 A 488,620 462,874 25,746
< 146,586
Al 342,034
11T MISRASEX 488,620 0 488,620
OFMEEI AtSI=SHAIE 284 XA 469,900
< 140,970
Al 328,930
OF/MNEEI MISHAE SAL SE2L(11
) 18,720
< 5,616
Al 13,104




A EAA

M Aot s=EEgdsS f8 g 2elAY
S XFAS HAEAHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
KIS A RHAOZAISE (EX) 44,670 44,670 0
< 13,400
Al 31,270
101 @124 dl 30,200 27,605 2,595
< 9,060
Al 21,140
04 D12t Z2XREES 30,200 27,605 2,595
OXHA oI gAY o1 30,200
= 9,060
Al 21,140
201 Let24E] 6,570 13,065 A6,495
< 1,970
Al 4,600
01 At 2teltl 6,570 13,065 A6,495
ORNADIER T2IY2SY S
328,500 *202] 6,570
= 1,970
Al 4,600
202 (44l 1,000 0 1,000
< 300
Al 700
01 = LH 4 HI 1,000 0 1,000
OX&MEAE =&Y 20,000& 50 1,000
= 300
Al 700
301 et d = 6,900 2,000 4,900
< 2,070
Al 4,830
09 HALAHIEA S 2,100 2,000 100
ONAUHLAISZ=E S&43  7,0008*«30H 10 2,100
= 630
Al 1,470
MIEE4d3 4,800 0 4,800
ON&UEAL = 2A="E S
80,000& «5H 12 4,800
< 1,440
Al 3,360
THEUY YL BAALSIAY 30,000 30,000 0
J| 15,000
Al 15,000
101 @124l 29,350 26,776 2,574
J| 14,675
Al 14,675
04 JI12ZtHZ22HEE = 29,350 26,776 2,574
OFMALSTAY 22 29,350
J| 14,675
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2N
X ZH -
L= B

el

= A

— 4

Aoreel sHgd
KIS Atel AEAHA

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Al 14,675
201 fEt2E | 650 3,224 N2,574
Il 325
Al 325
01 AtR 2t 2l | 650 3,224 A2,574
OFUALBZING DS 2B
65,000& x103! 650
Jl 325
Al 325
Ols&EAYE HAUBAMS(EX) 50,000 0 50,000
Il 25,000
Al 25,000
101 @124 H] 40,100 0 40,100
Il 20,050
Al 20,050
04 DIt 22 XS+ 40,100 0 40,100
OOtSEAEFNUEAAMY U2Y 40,100
Jl 20,050
Al 20,050
201 2Bt | 7,800 0 7,800
Jl 3,900
Al 3,900
01 At2 2t el b 7,800 0 7,800
OOISHAY FAUAYZNT2IHLSY
80,000& 602l 4,800
Jl 2,400
Al 2,400
ONYEZ 2B U 2225 7Y
1,000& *3,000% 3,000
Jl 1,500
Al 1,500
301 LetEa = 2,100 0 2,100
Jl 1,050
Al 1,050
09 AEHIES S 2,100 0 2,100
OOSHAEMALAANAZE HAD
7,000 30 «10& 2,100
Jl 1,050
Al 1,050
FAUEAANEEHS(EX) 209,626 0 209,626
= 104,813
=3 31,444
Al 73,369
402 QI2tXt=01 ™ 209,626 0 209,626
= 104,813
= 31,444
Al 73,369
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SA EHA

— 4

HE: [otRe SABAS IS YRAYBE ALY
S XFAS HAEAHAY (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 It =2 AL EE 209,626 0 209,626
OMIISAHAE JISELZAMNS(ESHIE E5) 209,626
2 104,813
< 31,444
Al 73,369
FAEHAMS 60,991 142,433 AB1,442
J| 26,579
= 10,338
Al 24,074
X0t & ORI ME(EX) 7,833 7,833 0
< 2,364
Al 5,469
201 Let24d] 1,500 2,000 A 500
< 453
Al 1,047
01 At 22/l 1,500 1,500 0
O7Y2A DSS I 7
1,500, 000& =13l 1,500
= 453
Al 1,047
307 21201 A 6,333 5,833 500
< 1,911
Al 4,422
01 =L =4l 6,333 5,833 500
OXIOoF EHRII MEFL(MHE S 108) 6,333
= 1,911
Al 4,422
Lolox EFAE(EX) 53,158 134,600 A81,442
Jl 26,579
< 7,974
Al 18,605
307 glz2tol & 53,158 134,600 AB1,442
J| 26,579
< 7,974
Al 18,605
01 22272l 53,158 134,600 AB1,442
OxrzHzZe(dd2oX 2 2E22X)
809, 3003 «22 30 48,558
J| 24,279
= 7,284
Al 16,995
O7R2ZHZe(LUYXNEE AZF2eld])
200,000& »23H 4,600
J| 2,300
< 690
Al 1,610
MBS NHS S8 AL 4,000 22,730 A 18,730
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A EAA
MY MEEH HHS S8 AYEA
Sel: AUME MH BATH Y NRAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AZME AN SFL Y NJIAMS 4,000 22,730 A 18,730
AYMENMN SEMHA 4,000 4,000 0
201 €24 2,500 2,500 0
02 =224l 2,500 2,500 0
OAHLEETAHE &I 2,500
203 YR =2l 1,500 1,500 0
03 AIMFAH S =AY 1,500 1,500 0
OAULSTAYE ANHHRFAH| 1,500
AT QI A2 2 e| At 2,236,943 1,640,235 596,708
Xl 79,781
J| 543,639
< 174,568
Al 1,438,955
SUEHAAMS 8,500 11,600 A 3,100
LT Azt 8,500 11,600 A 3,100
201 Let2d] 1,000 1,600 A 600
01 At 22l 1,000 1,600 A 600
o8 2r+s 5| 428 78
10,0002 = 1004 1,000
307 21201 A 7,500 10,000 A 2,500
01 2724l 7,500 10,000 A 2,500
OJI& 0 & AtH| 25,000& 300 7,500
S LKA 996,490 942,447 54,043
Xl 79,781
J| 53,832
< 31,506
Al 831,371
S&EHz N 789,100 794,100 A5,000
301 e A3z 775,000 780,000 A5,000
01 MI28E+06l= 775,000 780,000 A5,000
OFFOPNEE=, 725,000
SMXES(HMOH) 500,000& 270 135,000
ESMTAS(SMOH) 1,000, 000& 220 220,000
SMUXES (A MO 3,000,000& 904 270,000
S0XES (LMot olat)
4,000,000& 259 100,000
Ott=xelXN&3 500,000& 100 50,000
307 21201 A 14,100 14,100 0
01 222l 14,100 14,100 0
ONE2ASHXNAS 15,0003 23| 50 1,500
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A EAA
A MO el A2 ALY
Chel: ST AE (9 ® =)
L=
SA- BB B(SH) - NRAS - BYS Ol 4 o4 b HI RS2
OXE9 e HAAN=HXES
300,000 +«3& 144 12,600
A2, AMOF =20 X3 (EX) 99,726 69,319 30,407
X 79,781
< 9,973
Al 9,972
307 glz2tol & 99,726 69,319 30,407
Xl 79,781
= 9,973
Al 9,972
05 RIZt2E = 99,726 69,319 30,407
O/ AlMOF =200 X2 (=<0 maA) 99,726
Xl 79,781
= 9,973
Al 9,972
RS TAMS(EX) 107,664 79,028 28,636
J| 53,832
< 21,533
Al 32,299
101 @124l 23,900 22,764 1,136
J| 11,950
= 4,780
Al 7,170
04 D12t 22 HEE =+ 23,900 22,764 1,136
OHYER NIAAY 2 23,900
J| 11,950
< 4,780
Al 7,170
307 glz2tol & 83,764 56,264 27,500
J| 41,882
< 16,753
Al 25,129
01 222724l 83,764 56,264 27,500
OelZ+3d Alsdl XI& 14,850
J| 7,425
= 2,970
Al 4,455
OMeA+=H Al=dl X& 68,914
J| 34,457
< 13,783
Al 20,674
ZJHE = HEZSAY 1,155,600 597,316 558,284
J| 454,800
S 133,207
Al 567,593
=tE= HEES 246,000 246,000 0
201 £B-2dH| 2,000 2,000 0
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— 4

I MO el A2 A

el RIIE4 HYBIAMY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 2,000 2,000 0
ONYEE NSSE L HAIE HE 7
500, 000& 42 2,000
307 glz2+0l & 244,000 244,000 0
01 2272l 244,000 244,000 0
ONgds 4Z 7L (HBWLEES S 118) 242,000
ONYHEE JIRHM(AEELLE) 72¢
1,000, 000& 23| 2,000
2oHE s HEES(EX) 909,600 351,316 558,284
J| 454,800
< 133,207
Al 321,593
101 @124l 21,554 21,554 0
J| 10,777
< 1,617
Al 9,160
04 JI2ZtHZ22HEE = 21,554 21,554 0
ongds s=2clg 29 21,554
J| 10,777
< 1,617
Al 9,160
307 glz2tol & 888,046 329,762 558,284
J| 444,023
S 131,590
Al 312,433
01 22272l 888,046 329,762 558,284
O3NE0LEES N 888,046
J| 444,023
< 131,590
Al 312,433
R0 AFM ISR A2 2e] 62,227 73,570 A 11,343
J| 32,944
< 9,030
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